Conference Room, Argyle Road, Sevenoaks



Governance Committee

Supplementary Agenda

At the above stated meeting the attached presentation and document was tabled for the following items.

Pages Contact

5. **2018 Parliamentary Boundary Review**

(Pages 1 - 2) Lee Banks

Tel: 01732 227161



AP, AS, AU	Edenbridge North and East	3723	2	1862
AQ, AR, AT	Edenbridge South and West	3227	2	1614
AV	Eynsford	1540	1	1540
AW, BE, BF	Farningham, Horton Kirby and South Darenth	3854	2	1927
AX, CS, CT, CU, CV	Fawkham and West Kingsdown	5025	3	1675
AE, AY, BI	Halstead, Knockholt and Badgers Mount	2769	2	1385
AB, AZ, BA	Hartley and Hodsoll Street	4896	3	1632
BD	Hextable	3353	2	1677
BG, BH	Kemsing	3235	2	1618
AJ, BJ	Leigh and Chiddingstone Causeway	1843	1	1843
BK, CF, CG	Otford and Shoreham	3595	2	1798
AI, AK, AL, BL, BM	Penshurst, Fordcombe and Chiddingstone	1977	1	1977
BO, BP, BQ, CE, CE	Seal and Weald	3180	2	1590
BV, BW	Sevenoaks Eastern	3062	2	1531
BX, BY, CA	Sevenoaks Kippington	3735	2	1868
BR, BS, BT	Sevenoaks Northern	3260	2	1630
BU, BZ, CB, CC	Sevenoaks Town and St. John's	4989	3	1663
CK, CL, CO	Swanley Christchurch and Swanley Village	4631	3	1544
CM	Swanley St. Mary's	3293	2	1647
CN, CP	Swanley White Oak	4973	3	1658
CQ, CR	Westerham and Crockham Hill	3485	2	1743
	AQ, AR, AT AV AW, BE, BF AX, CS, CT, CU, CV AE, AY, BI AB, AZ, BA BD BG, BH AJ, BJ BK, CF, CG AI, AK, AL, BL, BM BO, BP, BQ, CE, CE BV, BW BX, BY, CA BR, BS, BT BU, BZ, CB, CC CK, CL, CO CM CN, CP	AQ, AR, AT Edenbridge South and West AV Eynsford AW, BE, BF Farningham, Horton Kirby and South Darenth AX, CS, CT, CU, CV Fawkham and West Kingsdown AE, AY, BI Halstead, Knockholt and Badgers Mount AB, AZ, BA Hartley and Hodsoll Street BD Hextable BG, BH Kemsing AJ, BJ Leigh and Chiddingstone Causeway BK, CF, CG Otford and Shoreham AI, AK, AL, BL, BM Penshurst, Fordcombe and Chiddingstone BO, BP, BQ, CE, CE Seal and Weald BV, BW Sevenoaks Eastern BX, BY, CA Sevenoaks Kippington BR, BS, BT Sevenoaks Northern BU, BZ, CB, CC Sevenoaks Town and St. John's CK, CL, CO Swanley Christchurch and Swanley Village CM Swanley St. Mary's CN, CP Swanley White Oak	AQ, AR, AT Edenbridge South and West Eynsford AW, BE, BF Farningham, Horton Kirby and South Darenth AX, CS, CT, CU, CV Fawkham and West Kingsdown 5025 AE, AY, BI Halstead, Knockholt and Badgers Mount 2769 AB, AZ, BA Hartley and Hodsoll Street 4896 BD Hextable 3353 BG, BH Kemsing 3235 AJ, BJ Leigh and Chiddingstone Causeway 1843 BK, CF, CG Otford and Shoreham 3595 AI, AK, AL, BL, BM Penshurst, Fordcombe and Chiddingstone BV, BW Sevenoaks Eastern 3062 BX, BY, CA Sevenoaks Kippington 3735 BR, BS, BT Sevenoaks Northern 3260 BU, BZ, CB, CC Sevenoaks Town and St. John's 4989 CK, CL, CO Swanley CN, CP Swanley St. Mary's 3227 1540 3227 1540 1540 3854 4854 1540 3854 AS54 AS55 AS54 AS54 AS54 AS55 AS55 AS56 AS66 AS	AQ, AR, AT Edenbridge South and West 3227 2 AV Eynsford 1540 1 AW, BE, BF Farningham, Horton Kirby and South Darenth 3854 2 AX, CS, CT, CU, CV Fawkham and West Kingsdown 5025 3 AE, AY, BI Halstead, Knockholt and Badgers Mount 2769 2 AB, AZ, BA Hartley and Hodsoll Street 4896 3 BD Hextable 3353 2 BG, BH Kemsing 3235 2 AJ, BJ Leigh and Chiddingstone Causeway 1843 1 BK, CF, CG Otford and Shoreham 3595 2 AI, AK, AL, BL, BM Penshurst, Fordcombe and Chiddingstone 1977 1 BO, BP, BQ, CE, CE Seal and Weald 3180 2 BV, BW Sevenoaks Eastern 3062 2 BX, BY, CA Sevenoaks Kippington 3735 2 BR, BS, BT Sevenoaks Northern 3260 2 BU, BZ, CB, CC Sevenoaks Town and St. John's 4989 3 CK, CL, CO Swanley Christchurch and Swanley Village <td< td=""></td<>

Electorate

4672

4989

1655

1572

4160

District Ward

Ash and New Ash Green

Brasted, Chevening and Sundridge

Cowden and Hever

Crockenhill and Well Hill

Dunton Green and Riverhead

Polling Districts

AA, AC, AD

AF, AG, AH, CI, CJ AM, BB, BC

AN, CH

AO, BN

Number of Councillors

3

3

1

1

2

Electors per Member

1557

1663

1655

1572

2080

This page is intentionally left blank